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(1) Given y = 52* — 42° + 62 + 10, ﬁndd—gatx:—Q (2) Given y = Tt ,ﬁndd—‘gatle
x x

3
(3) Given y = (22® — 5) (62” + 4x), find % at z =2 (4) Given y = 7% + 2\/z, find y"'(1)

. 3 — a2 d?y . x4+ 2 d3y
(5) Given y = . 7ﬁndﬁ atz =2 (6) leeny:m,ﬁnd s

at x = —2

3
(7) Given y = 275 +22% — /5 find % atx=-1 (8) Giveny = (z+ vx) (2z + 1), find y"(4)
x

i 3x2 — 5z d?y . 2x — 3y/x d?y
(9) Given y = R find ) at =3 (10) Given y = WA find Tz at x =1
d3 2 7
(11) Given y = 82° — 1225 — 5z + 10, find d—xg atz=—1 (12) Giveny = ”JSI , find y"(—1)
43 4 5
(13) Given y = (32% 4 4z) (2 — 5), find d—xz atx=1 (14) Given y = mGI , find 3" (3)
. — d?
(15) Given y = 273 — 3\/z, find y"/(4)  (16) Given y = LSQ, find SY at z = —2
(x—1) da3
d? 2,/ —5x d?
(17) Given y = =% — 322 + 2'/3, find d—xz atx=1 (18) Given y = J?‘if;c’ dT:z at r =1
. 423 + 3z d2y . "
(19) Given y = 2 find ) at x =—3 (20) Given y = (3z — 1) (22 + /), find y"(1)
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